415.30 mm
[16.350 in]

|

Emiti——— ¥
o [ *
1.80 mm
128.98 mm [0.071 in]
[5.078 in]
o .
421.65 mm
34.50 mm [16.600 in] PR
[0.177 in] X* L 794mm :
[0.313in] l
T g T
* ® ® ] f
095995292282982980098018092090090008092092092¢ °e e
T R A e A S A g A ‘
000000000000000000000899588888888888808888888888
0 0000000000000000000088999888888888808888888888
0 0000000000000000000099888888888888808888888888
7.94 mm 0800006000000000000000001000000000000000000000000 127.00 mm ° e
[0.313in] @ 000000000000000000000000000000000000000000000000 ¢ [5.000 in]
0 0000005000000000000098998888888888808888888888
0 0000000000000000000099888888888888808888888888
0 0000000000000000000698898888888888808888888888
000000050050005000000588888888888888888888888888
00000 0000000000000000800099000090950000000000000
000000888855550008085888555500885558656555000089
50855858555558558585888888888888888888888888888
I
373.06 mm ‘ |
[14.688 in] \ \
ASSEMBLY - ISOMETRIC VIEW
. o [ o . 558.78 mm 552,43 mm
‘ | ¢ ‘ [22.00 in] [21.749 in]
B | B Enclosures can be Factory Modified (Milling, Drilling, Printing etc.)
| 406.02 mm 0 Contact Factory - mjm@hammondmfg.com for quotes
[15.985 in] Solid models of this enclosure available in STEP or IGES.
o o RM3U1922VBK
| n
| Extruded Aluminum Frame - Type 6063
2 Panels - .064" Aluminum (5052-H32) Powder Coat
o o ! ° ° 2 Mounting Brackets - .125" Aluminum
1

482.61 mm

[19.000 in]

SECTION A-A

20 Screws - Flat Head 4-40 x 3/8"

8 Screws - Counter Sunk Head 6-32 x 3/8"

4 Screws - Counter Sunk Head 10-32 x 3/8"

558.78 mm 20 Nuts - #4 Speed Nuts
ASSEMBLY - TOP VIEW S S s Rt Foct TS
- wa2zin] [5.220 in] ACCESSORES
T F o y PULL HANDLES 1427P1BK
12065 mm : : ® . : REAR BRACKET KIT] RVBU18BRKT
4.750 in
| | @ LT T HAMMOND
L . @ MANUFACTURING -

[R0.125 in]

466.10 mm

ASSEMBLY - FRONT VIEW

[18.350 in]

ASSEMBLY - SIDE VIEW

RM3U1922VBK

www.hammondmfg.com




